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Logarithm Tables

John Napier of Merchiston (1 February 1550 — 4 April 1617),
nicknamed Marvellous Merchiston, was a Scottish landowner
known as a mathematician, physicist, and astronomer. He was the
8th Laird of Merchiston. His Latinized name was loannes Neper.

In the late 16™ century, astronomers spent a large part of their
working lives doing the complex and tedious calculations of
spherical trigonometry needed to understand the movement of
celestial bodies.

John Napier discovered a method of simplifying these calculations
using logarithms, replacing the calculation of a multiplication by
an addition. So effectively was Napier’s method that it was said he
effectively doubled the life of an astronomer by reducing the time
required to do these calculations.

Source: Wikipedia and 1B Higher Math for the international

d N InfN} || N In{NIJ N InfN} || N In(N)| N In{N}
Stu ent 1 0 21 3.04 41 3,71 &1 41 &1 | 439
2 0,59 22 | 309 42 | 374 62 | 413 42 | 44

. . 3 11 23 314 43 376 63 414 83 | 442

1) Knowing that the main property of the natural s 130 22 [318 | a1 | 378 | 62 | 416 | 84 | ae3
logarithm for 2 positive numbers a and b Napier used |5 |15 | 2 |32 o |28 = |0 = |

H H H H H H T 1,85 27 33 47 3,85 67 42 &7 | 447

in his table to simplify calculations is s | 202l 25 | 393 | 48 | 350 | 68 | 400 | 58 | 48

— . 9 22 28 | 337 49 | 389 69 | 423 59 | 448
In(ab)_ln(a)+|n(b) ShOW that ) 10 | 2.3 30 | 34 50 | 391 70 | 4325 9 | 45

1" 24 3 343 Bl 393 71 426 a 451

In(2) +In(5) +In(0.1) =0 12 | 248 | 32 | 347 | 52 | 395 | 72 | 428 | 92 | 452

13 | 256 33 35 53 3497 73 429 93 | 453

R R R 14 | 284 34 | 353 54 399 74 | 43 94 | 454

2) Using the properties of the natural logarithm, show 15 | 271 | 35 | 356 | 55 |e01 | 75 | 432 | 95 | 455

) 168 | 277 36 358 S8 | 403 76 433 95 | 458

that : 17 | 283 | 37 | 361 | 57 | 404 | 77 | 434 | o7 | 457

1% | 289 35 | 364 53 | 408 78 | 436 93 | 458

19 | 284 39 3.66 59 | 405 79 437 99 | 456

5In(3) — In(27) = In(9) 20 |3 40 | 369 | 60 [ 409 | 80 | 438 | 100 461

3) Using the natural logarithm, find the lowest n € IN such that : 0.9" < 0.04
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